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D–1527     

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

First Semester 

Commerce 

MANAGEMENT CONCEPTS 

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Planning? 

 vmhªkuÀ GßÓõÀ GßÚ? 

2. Write a short note on formal organisation. 

 •øÓa\õº¢u {ÖÁÚ Aø©¨¦ •øÓ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. What do you mean by Decision Making? 

 •iöÁkzuÀ Gß£øu £ØÔ }Âº AÔÁÚ ¯õøÁ? 

4. What do you mean by centralization? 

 öuõÈÀ ø©¯¨£kzxuø» £ØÔ }Âº AÔÁÚ ¯õøÁ? 

5. What you mean by Responsibility? 

 ÷Áø» ö£õÖ¨¦ GßÓõÀ GßÚ? 
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6. What do you understand by the term ‘Staffing’ 

 £o¯õmPÒ A©ºzxuÀ £ØÔ }Âº AÔÁÚ ¯õøÁ? 

7. What is span of control? 

 Pmk¨£kzxuÀ GßÓõÀ GßÚ? 

8. What is Management Audit? 

 ÷©»õsø© uoUøP GßÓõÀ GßÚ? 

9. Write a note on business ethics. 

 öuõÈÀ |ßöÚÔPÒ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

10. What do you mean by Bench Marking? 

 vÓß AÍÂhÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, either (a) or (b). 

11. (a) What are the scope of management? 

   ÷©»õsø©°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the limitations of planning? 

   vmhªku¼ß SøÓ£õkPÒ ¯õøÁ? 

12. (a) Explain the nature of organisation.  

   Â¯õ£õμ Aø©¨¦ •øÓ°ß C¯À¦PøÍ ÂÍUSP. 

Or 

 (b) List out the importance of Decision Making. 

   •iöÁkzu¼ß •UQ¯zxÁzøu £mi¯¼kP. 
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13. (a) Write short note on delegation and decentralisation. 

   ÷Áø» £Qº¢u¼zuÀ ©ØÖ® AvPõμ £μÁ»õUP® £ØÔ 

]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) What are the importance of delegation? 

   ÷Áø» £Qº¢u¼zu¼ß •UQ¯zxÁ® ¯õøÁ? 

14. (a) Write down the importance of staffing. 

   £o¯õmPÒ A©ºzxu¼ß •UQ¯zxÁ® u¸P. 

Or 

 (b) Enumerate the essential qualities of a Leader. 

   J¸ |À»zuø»Á›ß uÛvÓø©PøÍ £mi¯¼kP. 

15. (a) What are the process of controlling? 

   Pmk¨£kzxu¼ß £À÷ÁÖ •øÓPøÍ ¯õøÁ? 

Or 

 (b) Give the advantages of ‘Bench Marking’. 

  vÓß AÍÂku¼ß |ßø©PøÍ u¸P. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various methods of planning. 

 vmhªku¼ß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

17. Explain the various principles of decision making.  

 •iöÁkzu¼ß £À÷ÁÖ öPõÒøPPøÍ ÂÍUSP. 
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18. Elucidate the advantages and disadvantages of 
centralisation. 

 ø©¯¨£kzxu¼ß |ßø©, wø©PøÍ ÂÁ›. 

19. Describe the functions of staffing. 

 £o¯õmkPÒ A©ºzxu¼ß £À÷ÁÖ ö\¯À£õkPøÍ ÂÁ›. 

20. Describe the different characteristics of Direction. 

 C¯USÂzu¼ß £À÷ÁÖ ]Ó¨¦ A®\[PøÍ ÂÍUSP. 

  

———————— 
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D–1528  

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

First Semester 

 Commerce 

MANAGERIAL ECONOMICS 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A  — (10  2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by maximization of profit? 

 C»õ£ AvP¨£kzxuÀ GßÓõÀ GßÚ? 

2. What do you mean by consumer goods? 

 ~Pº÷Áõº ö£õ¸mPÒ GßÓõÀ GßÚ? 

3. Define cost. 

 AhUP®/Pmhn® Gß£uß ÁøμÂ»UPn® u¸P. 

4. What is meant by fiscal policy? 

 {v°¯À öPõÒøP GßÓõÀ GßÚ? 

5. What is break even point? 

 C»õ£ |mhªÀ»õ \›\© ¦ÒÎ GßÓõÀ GßÚ? 

6. What is uncertainty? 

 {ø»¯ØÓz ußø© GßÓõÀ GßÚ? 
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7. Define consumer. 

 ~Pº÷Áõº & Áøμ¯Ö. 

8. What is depression? 

 ©¢u{ø» GßÓõÀ GßÚ? 

9. Define investments. 

 •u½kPÒ & Áøμ¯Ö. 

10. What do you mean by economic power? 

 ö£õ¸Íõuõμ \Uv GßÓõÀ GßÚ? 

SECTION B  — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the importance of managerial economics. 

  ÷©»õsø© ö£õ¸Î¯¼ß •UQ¯zxÁ® ÂÍUSP. 

Or 

 (b) Describe the law of demand. 

  ÷uøÁ Âvø¯ ÂÍUSP. 

12. (a) What is average cost? Why is short run average cost 
U-shaped? 

  \μõ\› ö\»Ä GßÓõÀ GßÚ? SÖQ¯ Põ» \μõ\› ö\»Ä 

ÁøÍ÷Põk Hß U-ÁiÂÀ C¸UQÓx & ÂÍUSP. 

Or 

 (b) Explain the various types of pricing policies. 

  Âø»°hÀ öPõÒøP°ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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13. (a) State the principles of pricing policies. 

  Âø»°hÀ öPõÒøP°ß •øÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) Enumerate the features of a business cycle. 

  ÁoPa _ÇØ]°ß C¯À¦PøÍ Â›Ä¨£kzxP. 

14. (a) Explain decision theory. 

  •iöÁkzuÀ ÷Põm£õmiøÚ ÂÍUSP. 

Or 

 (b) Explain the various types of inflation. 

  £nÃUPzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

15. (a) Explain the various types of investments. 

  •u½miß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Enumerate the objectives of economic planning. 

  ö£õ¸Íõuõμ vmhªh¼ß ÷|õUP[PøÍ 

Â›Ä¨£kzxP. 

SECTION C  — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between managerial economics and business 
economics. 

 ÷©»õsø© ö£õ¸Î¯¾US®, ÁoP ö£õ¸Î¯¾US® 

Cøh÷¯¯õÚ ÷ÁÖ£õkPøÍ TÖP. 

17. Explain the opportunity cost and its limitations. 

 ¤ÓÁõ´¨¦a ö\»ÂøÚ ÂÍUSP ©ØÖ® Auß 

SøÓ£õkPøÍ ÂÁ›UP. 
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18. Enumerate the factors affecting pricing policies. 

 Âø»°hÀ öPõÒøPø¯ £õvUS® PõμoPøÍ 

Â›Ä¨£kzxP. 

19. State the causes of inflation. 

 £nÃUPzvØPõÚ Põμn[PøÍ SÔ¨¤kP. 

20. How market price is determined under condition of 
perfect competition? 

 {øÓÄ¨÷£õmi°À Âø» GÆÁõÖ wº©õÛUP¨£kQÓx? 

––––––––––––– 
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D–1529     

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

First Semester 

ADVANCED ACCOUNTING 

(CBCS 2018-19 Academic year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What is Sales? 

 ÂØ£øÚ GßÓõÀ GßÚ? 

2. Who is a debtor? 

 PhÚõÎ Gß£Áº ¯õº? 

3. What are subsidiary books? 

 xøn HkPÒ ¯õøÁ? 

4. What is ledger? 

 ÷£÷μk GßÓõÀ GßÚ? 

5. Define Bill of Exchange. 

 Áøμ¯Ö ©õØÖa ^mk. 

6. What is Bank Reconciliation Statement? 

 Á[Q \›Pmk® £mi¯À GßÓõÀ GßÚ? 

7. Define consignment. 

 Áøμ¯Ö AÝ¨¥k. 

Sub. Code 
31013 

 



D–1529 

 

  2

wk14 

8. What do you mean by Royalty? 

 SzuøP GßÓõÀ GßÚ? 

9. What are fixed interest securities? 

 {ø»¯õÚ Ámi¨ £zvμ[PÒ Gß£øÁ ¯õøÁ? 

10. What do you understand by hire purchase? 

 ÁõhøP öPõÒ•uÀ £ØÔ }Âº AÔ¢ux GßÚ? 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain any three accounting concepts. 

  PnUQ¯¼À EÒÍ HuõÁx ‰ßÖ P¸zxUPøÍ 

ÂÍUSP. 

Or 

 (b) From the following information, prepare double 

column cash book: 

  (i) Balance of cash in hand Rs.2,000. 

  (ii) Received from Krishna Rs.580, discount Rs.20. 

  (iii)  Purchased goods Rs.500. 

  (iv)  Cash sales Rs.800, 

  (v) Paid Joshi Rs.390, discount Rs. 10. 

  (vi)  Paid wages Rs.40. 

  (vii)  Paid salaries Rs. 100. 

  (viii)  Received commission Rs. 100. 
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  RÌUPõq® ÂÁμ[PÎ¼¸¢x C¸£zv öμõUP Hk 

u¯õ›UPÄ®. 

  (i) Bμ®£ øP°¸¨¦ ¹.2.000. 

  (ii) Q¸ènõÂh® C¸¢x ö£ØÓx. ¹.580, uÒÐ£i 

¹.20. 

  (iii)  \μUS öPõÒ•uÀ ¹ 500. 

  (iv)  öμõUP ÂØ£øÚ ¹.800, 

  (v) ÷áõæUS öPõkzux ¹.390, uÒÐ£i ¹. 10. 

  (vi)  T¼ ¹.40. 

  (vii)  \®£Í® ¹. 100. 

  (viii) Pªåß ö£ØÓx ¹. 100. 

12. (a) Define ‘Bill of Exchange’. What are the advantages 
of that to drawer? 

  C»UPn® u¸P. ‘©õØÖa^mk’. BuÚõÀ Áøμ÷ÁõºUS 

HØ£k® |ßø©PÒ ¯õøÁ? 

Or 

 (b) A lease was purchased on 1.4.15 at Rs.30,000. It 
was decided to depreciate it under annuity method 
at 5% interest. Annuity table shows Re. 1 @ 5% 
interest for 5 years to Re.0.230975. Show the lease 
a/c for the 3 years. 

  J¸ SzuøP 1.4.15 AßÖ ¹. 30,000 Áõ[P¨£mhx. 

Aøu Á¸hõ¢vμ ö£Ö® •øÓ°À 5% Ámi°À, 

÷u´©õÚ® ö\´¯ •iöÁkUP¨£mhx. Á¸hõ¢vμ 

ö£Ö® AmhÁøn°À ¹. 1.5% Ámi. 5 Á¸h[PÐUS 

©v¨¦ ¹. 0.230975. SzuøP PnUS ‰ßÖ 

Á¸h[PÐUS Põs¤UPÄ®. 
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13. (a) Bring out the difference between trial balance and 
balance sheet. 

  C¸¨¦a ÷\õuøÚUS®, C¸¨¦{ø»US® EÒÍ 

÷ÁÖ£õmøh PõsP. 

Or 

 (b) Prepare bank reconciliation statement : 

       Rs. 

  Balance as per pass book (Cr.) (31.12.17) 9,000 
  Cheque issued but not presented 15,000 
  Cheques received but not credited 1,500 
  Bank has given credit for interest 150 

  Á[Q \›UPmk® £mi¯À JßøÓ u¯õ›UPÄ®. 

       ¹. 

  Á[Q |P÷»k C¸¨¦ (ÁμÄ) (31.12.17) 9,000 

  Põ÷\õø» öÁÎ°mk, Báº BPõux 15,000 

  Põ÷\õø» ö£Ó¨£mk, ÁμÄ øÁUPõux 1,500 

  Á[Q¯›ß ÁμÄ ÁmiUS›¯x 150 

14. (a) Anand has purchased as follows. For that purchase 
due date was given below: 

  5.1.2018 Rs.500 – due date 16.2.88 
  10.2.2018 Rs.800 — due date 16.3.88 
  4.3.2018 Rs.1,000 — due date 20.4.88 
  1.4.2018 Rs.750 — due date 15.5.88 

  Find average due date. 

  BÚ¢z ¤ßÁ¸©õÖ öPõÒ•uÀ ö\´xÒÍõº. 

AuØS›¯ öPk|õÒ öPõkUP¨£mkÒÍÚ. 

  5.1.2018 ¹.500 – öPk |õÒ16.2.88 
  10.2.2018 ¹.800 — öPk |õÒ 16.3.88 
  4.3.2018 ¹.1,000 — öPk |õÒ 20.4.88 
  1.4.2018 ¹.750 — öPk |õÒ 15.5.88 

  \μõ\› öPk |õÒ Psk¤iUPÄ®. 
Or 
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 (b) Explain the differences between consignment and 
joint ventures. 

  AÝ¨¥miØS® CønÂøÚUS® EÒÍ 

÷ÁÖ£õkPøÍ ÂÁ›. 

15. (a) Rectify the following errors : 

  (i) Rs. 12,000 paid salary to cashier  
Mr. Govindan, stands debited to his personal 
account. 

  (ii) An amount of Rs. 5,000 withdrawn by the 
proprietor for his personal use has been 
debited to trade expenses account. 

  ¤ßÁ¸® ¤øÇPøÍz v¸zxP. 

  (i) Põ\õÍº v¸. ÷PõÂ¢uß AÁºPÐUS Fv¯® 

ÁÇ[Q¯x ¹. 12,000 AÁº PnUQÀ £ØÖ 

øÁUP¨£mkÒÍx. 

  (ii) E›ø©¯õÍº uß ö\õ¢u £¯ÝUPõP GkzxU 

öPõsh  ¹. 5,000 Â¯õ£õμa ö\»ÄPÒ PnUQÀ 

£ØÖ øÁUP¨£mkÒÍx.   

Or 

 (b) Bring out the differences between Hire purchase 
and Installment purchase. 

  ÁõhøPU öPõÒ•u¾US®, uÁønU öPõÒ•u¾US® 

EÒÍ ÷ÁÖ£õkPøÍ öÁÎ¨£kzxP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain the classification of accounts. State the rules of 
debit and credit. 

 PnUQß ÁøPPøÍ ÂÍUSP. £ØÖ, ÁμÄ ÂvPøÍU TÖP. 
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17. A company whose accounting year is the calendar year, 
purchased on 1.1.15, a machinery for Rs. 40,000. It 
purchased further machinery on 1.5.15 for Rs.20,000 and 
1.7.16 for Rs.10,000. On 1.7.17, 4

1  of the machinery 
purchased on 1.1.15 became obsolete and was sold for  
Rs. 6,800. Show the machinery a/c for three years under 
Fixed Installment system at 10% pa. 

 J¸ {Ö©® uß PnUSPøÍ |õÒPõmi Á¸h©õP £μõ©›zx 

J¸ C¯¢vμzøu 1.1.15 AßÖ ¹. 40,000 öPõÒ•uÀ ö\´ux. 

÷©¾® ©ØöÓõ¸ C¯¢vμzøu 1.5.15 AßÖ ¹. 20,000. 

öPõÒ•uÀ ö\´ux. 1.7.16 AßÖ ¹. 10,000 CßöÚõ¸ 

C¯¢vμzøu Áõ[Q¯x 1.7.17 AßÖ 1.1.15 Áõ[Q¯ PõÀ £õP 

C¯¢vμzøu PÈÄ ö\´x ¹. 6,800 ÂØÓx. C¯¢vμ 

PnUSPøÍ ‰ßÖ Á¸hzvØS 10% {ø» uÁøn •øÓ°À 

Á¸h¢÷uõÖ® ÷u´©õÚ® ö\´x Põs¤UPÄ®. 

18. On 1.9,2017, S, Bangalore consigned goods worth 
Rs.2,64,000 to M, Cochin at an invoice price of cost plus 
20%. S paid Rs. 10,000 towards insurance and freight.  
M was allowed Rs. 2,000 for establishment expenses. He 
was entitled 5% commission on gross sale and  
3% delcredere commission on credit sales only. M spent  
Rs. 2,040 for landing charges. 

 Three fourth of the goods were sold at cost plus 33 3
1 % out 

of these half was on credit, Half of the balance goods was 
destroyed by fire and claim was made for Rs.28,000 which 
was settled at 10% discount. The remaining goods was on 
stock. 

 Show the ledger a/c in the books of consignor. 

 1.9,2017 AßÖ ¹. 2,64,000 ©v¨¦ÒÍ \μUSPÒ S ö£[PÑº 

Chª¸¢x AÝ¨¥k •øÓ°À M öPõa]ß AÁ¸US 

AÝ¨£mhx. Aøu AhUP® ÷©÷» 20% Chõ¨¦ Âø»°À 

£mi¯¼h¨£mhx. S Põ¨¥k ©ØÖ® Pmhn® ö\¾zv¯x  

¹. 10,000. M A¾Á»P ö\»ÄUS ¹ 2,000 ÷©¾® Pªåß 5% 

ö©õzu ÂØ£øÚ°À. 3% ¤øn PÈÄ Pªåß Phß 

ÂØ£øÚ°À ©mk®. M ö\»ÁÈzux CÓUSU T¼ ¹. 2,040. 
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 |õßQÀ ‰ßÖ \μUSPÒ AhUPzvÀ ÷©À 33 3
1 % »õ£zvÀ 

ÂØP¨£mhx. AvÀ £õv Phß ÂØ£øÚ. ÂØPõa \μUQÀ 

£õv, w°ÚõÀ £õv¨¦ HØ£mk ÷Põ›UøP¯õP ¹. 28,000 

ö\´¯¨£mk, Aøu10% uÒÐ£i°À wºUP¨£mhx. «v 

\μUS ÂØPõ©À EÒÍx. AÝ¨¦|º HmiÀ ÷£÷μmkU 

PnUSPøÍ u¸P. 

 xøÓÁõ›¯õÚ C»õ£ |mhU PnUøPz u¯õº ö\´P. 

19. Prepare departmental Trading and Profit and Loss 
Account. 

Departments 

Cloth Ready mades 

 Rs. Rs. 

Opening Stock 1,21,600 86,400

Purchases 5,92,000 5,52,000

Wages expenses 2,000 8,000

Sales 8,00,000 6,40,000

Closing Stock 1,42,400 1,24,800

 

 Rs. 

Carriage inwards 22,880 

General expenses 92,800 

Rent 48,000 

Advertising 64,800 

Selling expenses 57,600 

Discount received 11,400 
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  Others information 

  (a) Goods transferred from cloth department to 
readymade department Rs.40,000 

  (b) Area of the two departments are in the ratio of 
3:2  

  (c)  General expenses are to be divided equally 
between the 2 departments. 

xozxøÓ B¯zu Bøh 

 ¹. ¹. 

Bμ®£ \μUS 1,21,600 86,400

öPõÒ•uÀ 5,92,000 5,52,000

T¼ ©ØÖ® ö\»ÄPÒ 2,000 8,000

ÂØ£øÚ 8,00,000 6,40,000

CÖva \μUS 1,42,400 1,24,800

 

 ¹. 

EÒ\zu® 22,880 

ö£õx ö\»ÄPÒ 92,800 

ÁõhøP 48,000 

ÂÍ®£μ® 64,800 

ÂØ£øÚ ö\»ÄPÒ 57,600 

uÒÐ£i ö£ØÓx 11,400 
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  Cuμ Â£μ[PÒ. 

  (A) xoz xøÓ°¼¸¢x B¯zu Bøhz xøÓUS 

AÝ¨¤¯ \μUS ¹.40,000 

  (B) C¸ xøÓPÎß £μ¨£ÍÄ ÂQu® 3:2  

  (C)  ö£õxa ö\»ÄPÒ C¸ xøÓPÐUS® \©©õP¨ 

¤›UPÄ®. 

20. Sun Ltd. of Chennai sends goods to its branch at Trichy 
at cost plus 20%. Show the branch a/c in the books of 
Head office. 

 Rs.  Rs. 

1.7.17 Stock at branch 18,000 Credit sales  

Debtors at branch 30,000 at branch 2,28,000

Petty cash at branch 300 Cash sent to  

branch 

Goods sent to branch 3,00,000 (for expenses) 11,600

Remittance from branch:  30.06.18 

Cash sales        60,000  Stock at branch 30,000

Receipt from   Petty cash at branch 200

Debtors         2,10,000 2,70,000  

 ö\ßøÚ°¾ÒÍ \ß ¼ªöhm, v¸a]°À EÒÍ uÚx 

QøÍUS  \μUSPøÍ AhUPzvß «x 20% GÚ AÝ¨¦QßÓx. 

¤ßÁ¸® Â£μ[PÎ¼¸¢x QøÍ°ß PnUQøÚz uø»ø© 

A¾Á»P HkPÎÀ u¯õº ö\´P. 

 ¹.  ¹. 

1.7.17 QøÍ°ß \μUQ¸¨¦ 18,000 QøÍ°ß Phß  

PhÚõÎPÒ 30,000 ÂØ£øÚ 2,28,000
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 ¹.  ¹. 

]Ö öμõUPP® 300 öμõUP (ö\»ÄPÒ)

QøÍUS AÝ¨£mh \μUS 3,00,000 30.06.18 11,600

öμõUP®  QøÍ°ß \μUS 30,000

QøÍ°¼¸¢x  

ö£Ó¨£mh  

öμõUP®             60,000 

 ]Ö öμõUP® 200

PhÚõÎPÎh®    

Á`À                2,10,000 2,70,000  

  

 –––––––––––––– 
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D–1530     

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

First Semester 

Commerce 

BUSINESS ENVIRONMENT 

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define – Business Environment. 

 ÁoP `ÇÀ Áøμ¯Ö. 

2. What is culture? 

 P»õa\õμ® GßÓõÀ GßÚ? 

3. Define – Economic system. 

 ö£õ¸Íõuõμ •øÓ Áøμ¯Ö. 

4. What is Economic Planning? 

 ö£õ¸Íõuõμ vmh® GßÓõÀ GßÚ? 

5. Define – Privatisation. 

 uÛ¯õº ©¯©õUPø» – Áøμ¯Ö. 

6. Define – Contract. 

 ‘J¨£¢u®’ – Áøμ¯Ö. 

Sub. Code 
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7. What is globalisation? 

 E»P©¯©õUPÀ GßÓõÀ GßÚ? 

8. Define the term Multinational Corporation. 

 £ßÚõmk PÇP® Gß£øu Áøμ¯Ö. 

9. What is technology? 

 öuõÈÀ~m£® GßÓõÀ GßÚ? 

10. Define the term Industrial Policy. 

 öuõÈÀ öPõÒøPø¯ Áøμ¯Ö. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, either (a) or (b). 

11. (a) Discuss the internal factors influence business 
environment. 

   ÁõoP `Ç÷»õk öuõhº¦øh¯ APUPõμoPøÍ 

ÂÁ›. 

Or 

 (b) Discuss the merits of socialism. 

   \©uº©zvß |ßø©øÍ ÂÁ›. 

12. (a) What are the features of Economic Planning? 

   ö£õ¸Íõuõμ vmhªh¼ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b)  Explain the features of co-operative societies. 

   TmkÓÄ \[P[PÎß ]Ó¨¤¯À¦PøÍ ÂÁ›. 
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13. (a) What are the objectives of privatisation? 

   uÛ¯õº©¯©õUP¼ß SÔU÷PõÒPÒ ¯õøÁ? 

Or 

 (b)  Explain the essential elements of a contract. 

   J¨£¢uzvß •UQ¯ TÖPøÍ ÂÁ›. 

14. (a) Explain the features of globalisation. 

   E»P©¯©õUP¼ß ]Ó¨¤¯À¦PøÍ  ÂÁ›. 

Or 

 (b)  What are the functions of IDBI? 

   C¢v¯ öuõÈÀ ÁÍºa] Á[Q°ß £oPÒ ¯õøÁ? 

15. (a) What are the objectives of world bank? 

   E»P Á[Q°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Discuss the features of MNCs.  

  £ßÚõmk PÇPzvß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Critically examine the consumer protection Act, 1986. 

 ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986&I Â©º\Ú ©v¨¥k 

ö\´P. 

17. What are the objectives and the features of economic 
planning? 

 ö£õ¸Íuõμ vmhªku¼ß ÷|õUPzøu²®, ]Ó¨¤¯À¦PøÍ²® 

TÖP. 
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18. What are the qualities of a good security? 

 J¸ ]Ó¢u Põ¨¦Öv°ß ußø©PÒ ¯õøÁ? 

19. What are the objectives of GATT? 

 Â¯õ£õμ ©ØÖ® Á›Âv¨¦ «uõÚ ö£õxÁõÚ 

Ehß£iUøP°ß (GATT) ÷|õUP[PÒ ¯õøÁ? 

20. Define pollution and explain various kinds of pollution. 

 ©õ_£kuÀ GßÓõÀ GßÚ? £» ÁøP¯õÚ ©õ_£kuÀPøÍ 

ÂÁ›. 

———————— 
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D–1531  

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

Second Semester 

 Commerce 

MARKETING MANAGEMENT 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A  — (10  2 = 20 marks) 

Answer ALL questions. 

1. Define marketing. 

 \¢øu°¯À ÁøμÂ»UPn® u¸P. 

2. Write short note on segmentation. 

 £õS£kzxuÀ £ØÔ ]ÖSÔ¨¦ ÁøμP. 

3. What is branding? 

 Â¯õ£õμUSÔ GßÓõÀ GßÚ? 

4. Who is middle man? 

 CøhzuμPº Gß£Áº ¯õº? 

5. What is advertising? 

 ÂÍ®£μ® GßÓõÀ GßÚ? 

6. What do you mean by personal selling? 

 ÷|μi ÂØ£øÚ GßÓõÀ GßÚ? 
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7. What do you understand by the term “consumerism”? 

 ~Pº÷ÁõºÂ¯À £ØÔ }Âº AÔÁÚ ¯õøÁ? 

8. Expand NAFED, CRM. 

 NAFED, CRM Â›ÁõUP® u¸P. 

9. Write any two objectives of CRM. 

 CRM H÷uÝ® Cμsk ÷|õUP[PøÍ u¸P 

10. What are the types of CRM? 

 CRM&ß ÁøPPÒ ¯õøÁ? 

SECTION B  — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) Enumerate importance of marketing. 

  \¢øu°¯¼ß •UQ¯zxÁzøu GsoUøP°kP. 

Or 

 (b) Explain the four p’s in marketing. 

  \¢øu°¯¼ß Ch®ö£Ö® |õßS ¤&UPøÍ ÂÍUSP. 

12. (a) Briefly explain the consumer buying process. 

  ~Pº÷Áõº Áõ[S® •øÓPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) Explain the ways of new product development. 

  ¦v¯ ö£õ¸Ò ÁÍºa]°ß £À÷ÁÖ ÁÈPøÍ ÂÍUSP. 
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13. (a) Write short note on skimming pricing, odd pricing. 

  SøÓÄ Âø» ©ØÖ® JØÓ¨£øh Âø» £ØÔ 

]ÖSÔ¨¦. 

Or 

 (b) Explain the importance of middle man in 
marketing. 

  CøhzuμPºPÎß •UQ¯zxÁzøu ÂÍUSP. 

14. (a) Write a short note on advertising budget, 
advertising copy. 

  ÂÍ®£μz vmh¨£mi¯À, ÂÍ®£μ |PÀ £ØÔ 

]ÖSÔ¨¦ ÁøμP. 

Or 

 (b) What are the advantages of publicity in marketing? 

  uPÁÀ £μ¨¦u¼ß •UQ¯zxÁ[PÒ ¯õøÁ? 

15. (a) What are the steps involved in marketing research? 

  \¢øu°¯À B´Âß £À÷ÁÖ £iPÒ ¯õøÁ? 

Or 

 (b) Explain the objectives of E-marketing. 

  ªßÚÝ \¢øu°¯¼ß ÷|õUP[PøÍ ÂÁ›. 

SECTION C  — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various types of segmentation. 

 £õS£kzxu¼ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

17. What are the factor involved in consumer behaviour? 
Explain. 

 ~Pº÷Áõº |hzøu°À Ah[Q²ÒÍ £À÷ÁÖ PõμoPøÍ 

ÂÍUSP. 
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18. Explain the merit and demerits of packaging. 

 Pmk©õÚzvß |ßø© ©ØÖ® wø©PøÍ ÂÁ›. 

19. Describe the various function of middle man. 

 CøhzuμPºPÎß £À÷ÁÖ £oPøÍ ÂÁ›. 

20. Describe the various technologies used for customer 
relationship. 

 ~Pº÷Áõº |m¦ÓÄUS £¯ß£kzu¨£k® £À÷ÁÖ öuõÈÀ 

~m£[PøÍ ÂÍUSP. 

––––––––––––– 
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D–1532     

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

Second Semester 

Commerce 

RESEARCH METHODOLOGY 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. Define research. 

 Bμõ´a] Áøμ¯Ö. 

2. How is research problem selected? 

 Bμõ´a] ¤μa\øÚ GÆÂu® ÷uº¢öukUP¨£kQÓx? 

3. Define research design. 

  Bμõ´a] ÁiÁø©¨¦ Gß£øu Áøμ¯Ö. 

4. What is secondary data? 

 Cμshõ® {ø» ¦ÒÎ ÂÁμ[PÒ GßÓõÀ GßÚ? 

5. Define scales. 

 AÍÃkPÒ Gß£øu Áøμ¯Ö. 

6. What is classification? 

 ÁøP¨£kzxuÀ GßÓõÀ GßÚ? 
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7. Define hypothesis. 

 AÝ©õÚ[PÒ Gß£øu Áøμ¯Ö. 

8. Define mean. 

 \μõ\› Áøμ¯Ö. 

9. What is analysis of variance? 

 ©õÖ£k® B´Ä GßÓõÀ GßÚ? 

10. What do you understand by report? 

 AÔUøP GÊxuÀ  Gß£x £ØÔ }Âº AÔÁöußÚ? 

SECTION B — (5  5 = 25 marks) 

Answer ALL the questions. 

11.  (a) What are the features of a good research? 

   J¸ |À» Bμõ´a]°ß C¯À¦PÒ ¯õøÁ? 

Or 

 (b) Discuss the components of the research problem. 

   Bμõ´a] ¤μa\øÚ°ß ‰»UTÖPøÍ ÂÁõvUP. 

12.  (a) What are the classification of research design? 

   Bμõ´a] ÁiÁø©¨¤ß £õS£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the sources of secondary data. 

   Cμshõ® {ø» ¦ÒÎ ÂÁμ[PÎß CÚ[PøÍ 

ÂÍUSP. 
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13.  (a) What are the types of measurement scales? 

   AÍÂk® AÍÃmiß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Discuss the advantages of questionnaire. 

   ÂÚõzöuõS¨¤ß |ßø©PøÍ ÂÁõvUP. 

14.  (a) Explain the factors determining the size of sample. 

   ©õv›°ß AÍøÁz wº©õÛUS® PõμoPøÍ ÂÍUSP. 

Or 

 (b) What are the characteristics of tabulation? 

   £mi¯¼h¼ß Snõv]¯[PÒ ¯õøÁ? 

15.  (a) What are the measures of central tendency? 

   ø©¯¨ ÷£õUSz ußø©°ß AÍÃkPÒ ¯õøÁ? 

Or 

 (b) Explain the ANOVA. 

   ANOVA ÂÍUSP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Briefly explain the steps involved in a research process. 

 Bμõ´a] ö\¯À•øÓ°À Dk£k® {ø»PøÍ _¸UP©õP 

ÂÁ›. 

17. Discuss the criteria for good measurement error. 

 |À» AÍÃmiß ¤øÇ Gß£uß •øÓ¨£õk £ØÔ ÂÁõvUP. 

18. Explain the various methods of sampling. 

 ©õv›PÎß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 
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19. Explain in detail the various types of research report. 

 Bμõ´a] AÔUøP°ß £À÷ÁÖ ÁøPPøÍ Â›ÁõP ÂÍUSP. 

20.  Elucidate the guidelines for presenting tabular data.  

 ¦ÒÎ ÂÁμ[PøÍ £mi°k® •øÓ°À ÁÇ[Su¼ß 

ÁÈPõmkuÀPøÍ Â›Ä£kzxP. 

 

 

  

———————— 
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D–1533   

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

Second Semester 

ADVANCED COST ACCOUNTING 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. Define Costing 

 Áøμ¯Ö : AhUPÂø». 

2. What is under absorption? 

 SøÓÄ Dº¨¦ GßÓõÀ GßÚ? 

3. What is meant by EOQ? 

 EOQ GßÓõÀ GßÚ? 

4. Give a brief note on “VED Analysis”.  

 VED £S¨£õ´Ä £ØÔ ]Ö SÔ¨¦ u¸P. 

5. What is meant by labour turnover? 

 öuõÈ»õÍº ¦μÒÄ GßÓõÀ GßÚ? 

Sub. Code 
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6. What do you mean by certified work? 

 \õßÔmh £o Gß£uß ö£õ¸Ò ¯õx? 

7. What is job costing? 

 öuõS¨¦ AhUPÂø» GßÓõÀ GßÚ? 

8. What is cost sheet? 

 AhUPÂø»z uõÒ GßÓõÀ GßÚ? 

9. Explain the meaning of Operating Costing. 

 C¯UP AhUPÂø»°ß ö£õ¸øÍ ÂÍUSP. 

10. What is process costing? 

 £i AhUP Âø» GßÓõÀ GßÚ? 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) Distinguish between cost accounting and financial 
accounting. 

  AhUPÂø»U PnUQ¯ø»²®, {v{ø» 

PnUQ¯ø»²® ÷ÁÖ£kzxP. 

Or 

 (b) How do you install the costing system in a concern? 

  AhUPÂ¯À •øÓø¯ J¸ {ÖÁÚzvÀ GÆÁõÖ }º 

{ÖzxÁõ´? 

12. (a) Explain the important incentive schemes of wage 
payment. 

  •UQ¯©õÚ FUPzvmh T¼ •øÓ°øÚ ÂÍUSP. 

Or 
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 (b) Calculate re-order quantity: 

  Annual usage 20,000 units  

  Buying cost per order Rs.10  

  Cost per unit Rs.100  

  Carrying cost 10% per unit. 

  Also calculate the number orders per year to be 
made. 

  ©Ö Bøn AÍøÁ PnUQkP. 

  Á¸h E£÷¯õP® 20,000 A»SPÒ 

  Bønø¯ Áõ[S® AhUP® ¹.10 

  J¸ ö£õ¸Ò AhUP® ¹.100 

  _ø©US® AhUP® 10% J¸ ö£õ¸ÐUS ÷©¾® 

GzuøÚ BønPÒ Á¸hzvØS öÁÎ°h ÷Ásk®. 

13. (a) How is the overheads classified? And how do you 
transfer to production departments? 

  ö\¯»ø©¨¦ ö\»ÄPøÍ G[VÚ® ¤›UP¨£kQÓx? 

Cøu GÆÁõÖ EØ£zv xøÓPÐUS ©õØÓ¨£kQÓx. 

Or 

 (b) From the following particular compute, 
  (i) Material cost variance 
  (ii) Material Price Variance 
  (iii) Material Usage Variance. 
  Quantify of material purchase 3,000 units 
  Value of material purchased Rs.9,000 
  Standard quantity of material required per   

  ton    30 units 
  Standard Rate of material Rs.2.50 
  Opening stock of material – 
  Closing stock of material 500 units 
  Output during the period 80 tonnes 
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  RÌUPsh Â£μ[PÎ¼¸¢x ©õÖ£õkPøÍ PnUQkP. 

  (i) ‰»¨ö£õ¸Ò AhUPÂø» ©õÖ£õk 

  (ii) ‰»¨ö£õ¸Ò Âø» ©õÖ£õk 

  (iii) ‰»¨ö£õ¸Ò £¯ß£õk ©õÖ£õkPøÍ 

PnUQkP. 

  ‰»¨ö£õ¸Ò öPõÒ•uÀ ö\´u AÍÄ 3,000 A»SPÒ 

  ‰»¨ö£õ¸Ò öPõÒ•uÀ ö\´u öuõøP ¹.9,000 

  1 hß u¯õ›UP ÷uøÁ¯õÚ  ‰»¨ö£õ¸Ò 30 A»SPÒ 

  ‰»¨ö£õ¸Ò uμÂø» ¹.2.50 

  öuõhUP ‰»¨ö£õ¸Ò – 

  CÖv ‰»¨ö£õ¸Ò 500 A»SPÒ 

  EØ£zv ö\´u AÍÄ 80 hß 

14. (a) State the features of process costing. 

  £i•øÓ AhUPÂø» •øÓ°ß ußø©PøÍU 

SÔ¨¤kP. 

Or 

 (b) Calculate the normal and overtime wage for a 
worker 

     Day  Hours worked 
  Monday  8 
  Tuesday  10 
  Wednesday 9 
  Thursday  11 
  Friday  11 
  Saturday  5 
  Normal working hours 8 per day. 
  Normal wage rate Rs.1 per hour. 
  Overtime rate : upto 9 hours per day at single rate.   
     above 9 hours at double rate. 
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  J¸ öuõÈ»õÎUS uμ ÷Ási¯ \õuõμn ©ØÖ® AvP 

÷|μ T¼ø¯ PnUQkP. 

   |õÒ  ÷Áø» ÷|μ® 
  v[PÒ  8 
  ö\ÆÁõ´  10 
  ¦uß   9 
  Â¯õÇß  11 
  öÁÒÎ  11 
  \Û   5 
  \õuõμn ÷Áø» ÷|μ[PÒ J¸ |õøÍUS 8. 
  \õuõμn T¼ ÂQu® J¸ ©oUS ¹.1  
  AvP ÷|μ T¼ : J¸ |õøÍUS 9 ©oPÒ Áøμ JØøÓ 

ÂQu® 

     J¸ |õøÍUS 9 ©oPÒ ÷©À ©oUS 

Cμsk ÂQu®. 

15. (a) A transport service company is running four buses 
between two towns which are 100 miles apart. The 
seating capacity of each bus is 40 passengers. From 
the following particulars, calculate the cost per 
passenger-mile. 

  Rs. 
  Wages of Drivers, conductors 5,200 
  Salaries of office staff and Inspectors 2,500 
  Diesel, oil   9,500 
  Repairs and maintenance 2,400 
  Road Tax and Insurance 4,100 
  Depreciation  4,800 
  Interest and other charges 3,750 

      32,250 

  Actual passengers carried were 70% of the seating 
capacity. All the buses ran for 25 days. Each bus 
made one round trip per day. 
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  J¸ ÷£¸¢x P®ö£Û, |õßS ÷£¸¢xPøÍ 100 ø©À 

CøhöÁÎ EÒÍ Cμsk |Pμ[PÐUS Cøh÷¯ 

C¯[SQÓx. JÆöÁõ¸ ÷£¸¢v¾®, 40 £¯oPÒ 

A©º¢x ö\À» Á\v EÒÍx. RÌUPsh 

Â£μ[PÎ¼¸¢x AhUPÂø» / £¯oPÒ ø©À 

Psk¤iUP :  

   ¹. 

  Kmk|º ©ØÖ® |hzxÚº T¼ 5,200 

  B´ÁõÍº ©ØÖ® A¾Á»P¨ £o¯õÍº \®£Í® 2,500 

  j\À, Gsön´  9,500 

  £μõ©›¨¦, £Êx£õº¨¦ 2,400 

  \õø» Á›,Põ¨¥k 4,100 

  ÷u´©õÚ®   4,800 

  Ámi ©ØÖ® Cuμ ö\»ÄPÒ 3,750 

      32,250 

  C¯ØøP Á\v°À 70% AÍÄ £¯oPÒ AøÇzxa 

ö\À»¨£mhÚº. GÀ»õ ÷£¸¢xPÐ® J¸ ©õuzvÀ 25 

|õmPÎ¾® £¯n® ö\´uÚ. JÆöÁõ¸ ÷£¸¢x® 

JÆöÁõ¸ |õÐ® J¸ •Ê _ØÖ¨ ¤μõ¯n® ö\´ux. 

Or 

 (b) Write a note on ABC analysis. 

  ABC Pmk¨£õmk •øÓ SÔ¨¦ ÁøμP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the advantages and disadvantages of cost 
accounting. 

 AhUPÂø»U PnUQ¯¼ß |ßø©PøÍ²®, wø©PøÍ²® 

ÂÁõvUP. 
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17. The following is the receipts and issues of a certain 
material during the January 1980: 

 1. Opening balance 100 tonnes @ Rs.10 each 

 1. Issued 60 tonnes 

 3. Received 120 tonnes @ Rs.10.50 each 

 4. Issued 50 tonnes 

 4. Received back 20 tonnes (already issued @ Rs.9.50 
each) 

 5. Issued 80 tonnes 

 6. Received 44 tonnes @ Rs.11 each 

 7. Issued 66 tonnes 

 Prepare Stores ledger under FIFO method. 

 RÌÁ¸£øÁ 1980&À ö£ÖuÀ ©ØÖ® öÁÎ±k ö\´¯ J¸ 

ö£õ¸ÐUS›¯øÁ : 

 1. Bμ®£ C¸¨¦ 100 hßPÒ JßÖ ¹.10  

 1. öÁÎ±k 60 hßPÒ 

 3. ö£ÖuÀ 120 hßPÒ JßÖ ¹.10.50  

 4. öÁÎ±k 50 hßPÒ 

 4. v¸®£ ö£Ó¨£mhx 20 hßPÒ (•ß¦ öÁÎ°mh 

Âø» JßÖ ¹.9.50) 

 5. öÁÎ±k 80 hßPÒ 

 6. ö£ÖuÀ 44 hßPÒ JßÖ ¹.11  

 7. öÁÎ±k 66 hßPÒ 

 \μUS ÷£÷μmøh •u¼À Á¸£øÁ •u¼À ö\À 

Ai¨£øh°À u¯õ›UPÄ®. 
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18. Job A incurred the following costs: 
 Department X 400 labour hours @ Rs.5 
 Department Y 700 labour hours @ Rs.6 

 Direct material Rs.5,000 ; Factory overheads are 
absorbed on direct labour hours and the rate for 
department X Rs.7 per hour and department Y Rs.4 per 
hour. The gross profit is 25% on sale. (Sales minus factory 
cost) The administrative over heads is 10% on sales. 

 Calculate the selling price of the job showing each 
division. 

 £o A ¤ßÁ¸® AhUPzøu ö\´xÒÍx : 

 xøÓ X 400 EøÇ¨¦ ©oPÒ JßÖ ¹.5 

 xøÓ Y 700 EøÇ¨¦ ©oPÒ JßÖ ¹.6 

 ÷|μi ö£õ¸Ò ¹.5,000 ; öuõÈØ\õø» ö\¯»ø©¨¦ ÷|μi 

©oPÒ Ai¨£øh°À xøÓ X ¹.7 ©ØÖ® xøÓ Y US JßÖ 

¹.4 GÚ DºUP¨£mhx. £oUS›¯ ÂØ£øÚ Âø»°À 

ö©õzu »õ£® 25% (ÂØ£øÚ PÈUPP öuõÈØ\õø» AhUP®) 
{ºÁõP ö\»Ä ÂØ£øÚ Âø»°À 10% £o°ß ÂØ£øÚ 

Âø» PnUQk. JÆöÁõ¸ A»øP²® Põs¤UP. 

19. The profit as per cost accounting Rs.30,114. While 
comparing with the financial accounts, the following 
differences were found. 

 Rs. 
 (a) Overheads as per cost accounts amounted 7,500 
  As per financial accounts this was 6,932 
 (b) Director’s fees not charged in cost 750 
 (c) The Company created doubtful debts 600 
 (d) Depreciation not shown in cost 600 
 (e) Transfer fees received 28 
 (f) The amount charged to income tax 9,000 

  Prepare a reconciliation statement. 
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 AhUP Âø» HkPÎß »õ£® ¹.30,114. {v°¯À HmiÀ 

Cøu J¨¦ ÷|õUS® ö£õÊx RÌPsh Âzv¯õ\[PÒ 

Põn¨£mhÚ : 

 ¹. 

 (A) ö\¯»ø©¨¦ ö\»Ä AhUP HmiÀ 7,500 

  Cx {v°¯À HmiÀ GÊu¨£mhx 6,932 

 (B) C¯US|º Fv¯® AhUPzvÀ GÊu¨£hõux 750 

 (C) {Ö©® JxUQ¯ I¯UPhß Põ¨¦ 600 

 (D) ÷u´©õÚ® AhUPzvÀ GÊu¨£hõux 600 

 (E) ©õØÖU Pmhn® ö£ØÓx 28 

 (F) Á¸©õÚ Á›US GÊu¨£mhx 9,000 

  \›UPmk® £mi¯À u¯õ›UPÄ®. 

20. On 1.1.2017, a Contract was begun, on which the 
following figures are given: 

                 Rs. 
 Contract Price   5,00,000 
 Machinery    30,000 
 Material    1,70,600 
 Wages    1,48,750 
 Direct expense   6,330 
 Outstanding wages  5,380 
 Uncertified work  9,000 
 Overheads    8,240 
 Materials returned  1,600 
 Materials on hand 31.12.2017 3,700 
 Machinery on hand 31.12.2017 22,000 
 Work certified   3,90,000 
 Cash received   3,51,000 

 Prepare contract account for the year 2017.  
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 1.1.2017 AßÖ Bμ®¤UP¨£mh J¸ J¨£¢uzvØPõÚ 

Â£μ[PÒ ¤ßÁ¸©õÖ : 

                 ¹. 

 J¨£¢u Âø»   5,00,000 

 C¯¢vμ®    30,000 

 ö£õ¸Ò    1,70,600 

 T¼     1,48,750 

 ÷|μi ö\»ÄPÒ   6,330 

 öPõk£hõ T¼   5,380 

 ¦o \õßÓÎUP¨£hõuøÁ 9,000 

 ö\¯»ø©¨¦ ö\»Ä  8,240 

 v¸®¤¯ ö£õ¸ÒPÒ  1,600 

 ö£õ¸Ò C¸¨¦ 31.12.2017 3,700 

 C¯¢vμ C¸¨¦31.12.2017 22,000 

 £o \õßÓÎUP¨£mhøÁ 3,90,000 

 £¯® ö£ØÓx   3,51,000 

 2017 BskUPõÚ J¨£¢uzøu u¯õ›UPÄ®. 

———————— 



  

D–1534    

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2019. 

Second Semester 

Commerce 

FINANCIAL SERVICES 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL the questions. 

1. What is capital market? 

 ‰»uÚa \¢øu GßÓõÀ GßÚ? 

2. Define market environment. 

 \¢øu _ØÖa`ÇÀ Áøμ¯Ö. 

3. Define Stock exchange. 

 £[S £›©õØÓ® Gß£øu Áøμ¯Ö. 

4. What is new issue market? 

 ¦v¯ öÁÎ±k \¢øu GßÓõÀ GßÚ? 

5. Define lease finance. 

 SzuøP {v GßÓõÀ GßÚ? 

6. What is mutual funds? 

 £μì£μ {v GßÓõÀ GßÚ? 

Sub. Code 
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7. Define stock broking. 

 £[S uμS Áøμ¯Ö. 

8. What is housing finance? 

 Ãhø©¨¦ {v GßÓõÀ GßÚ? 

9. Define the term bills discounting. 

 ©õØÖa^mk ÁmhªkuÀ Áøμ¯Ö. 

10. Define Chit funds. 

 ^mk {vPÒ Gß£øu Áøμ¯Ö. 

SECTION B — (5  5 = 25 marks) 

Answer ALL the questions. 

11. (a) Explain the nature of financial service industry. 

  {v°¯À ÷\øÁ öuõÈØ\õø»°ß C¯À¦PøÍ 

ÂÍUSP. 

Or 

 (b) What are the classification of Indian money 
markets? 

  C¢v¯ £na\¢øu°ß ÁøP¨£õkPÒ ¯õøÁ? 

12. (a) Discuss the role of secondary market. 

  Cμshõ® {ø» \¢øu°ß £[QøÚ ÂÁõvUP. 

Or 

 (b) Explain the functions of IDBI. 

  IDBI&°ß £oPøÍ ÂÍUSP. 
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13. (a) What are the steps in leasing transactions? 

  SzuøP°h¼ß £›©õØÓzvß •øÓPÒ ¯õøÁ? 

Or 

 (b) Explain the functions of Hire purchase finance. 

  ÁõhøPU öPõÒ•uÀ {v°ß £oPøÍ ÂÍUSP. 

14. (a) Discuss the regulation of mutual funds. 

  £μì£μ {v°ß JÊ[S•øÓPøÍ ÂÁõvUP. 

Or 

 (b) What are the features of merchant banking? 

  ÁoPzxÁ Á[Q°¯¼ß C¯À¦PÒ ¯õøÁ? 

15. (a) Explain the need for export finance. 

  HØÖ©v {v°ß ÷uøÁPøÍ ÂÍUSP. 

Or 

 (b) Discuss the regulations of RBI. 

  RBI&°ß JÊ[S•øÓPøÍ ÂÁõvUP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain the structure of capital markets. 

 ‰»uÚ \¢øu°ß Aø©¨¦PøÍ ÂÍUSP. 

17. Critically examine the role of investment companies in 
financing. 

 {v°h¼À •u½mk {Ö©[PÎß £[QøÚ öuÎÄ ö\´P. 
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18. Explain the hire purchase contract. 

 ÁõhøPU öPõÒ•u¼ß J¨£¢u[PøÍ ÂÍUSP. 

19. Discuss the functions of merchant banking. 

 ÁoPzxÁ Á[Q°ß £oPøÍ ÂÁõvUP. 

20. Briefly explain the functions of Chit fund companies. 

 ^mk {v {Ö©[PÎß £oPøÍ _¸UP©õP ÂÁ›. 

––––––––––––––– 


